P20-08, Ground Works Award Summary Max Points Available: 100	Jim Dickman Grading Tri Scapes		ACS Landscape Management
Criteria / Points Available			
Non Cost: 30 Points Available (See Non-Cost Tab For Breakdown)	30	30	30
Cost: 70 Points Available (See Cost Evaluation Tab For Breakdown)	65	57.2	66.3
TOTAL	95	87.2	96.3
Notes	Awarded contract under P20-08 to be included in our vendor pool for groundwork services.	Awarded contract under P20-08 to be included in our vendor pool for groundwork services.	Awarded contract under P20-08 to be included in our vendor pool for groundwork services.

P20-08, Groundworks Non-Cost Evaluation Max Points Available: 30	Jim Dickman	Tri Scapes	ACS Lanscape Management
Criteria / Points Available			
Contractor Qualifications - Criteria 1-5 Points Available: 30	Excellent 100 %	Excellent 100 %	Excellent 100 %
Total Score Points Available:	30.00	30.00	30.00
Notes: Non- Cost Determined Utilizing Scoring Matrix Relative to Points Available: Excellent=100%, Very Good=90%, Good=80%, Adequate=70%, Marginal=50%, Poor=25%, Unacceptable=0%			

P20-08, Ground Works Cost Evaluation Max Points Available:70	Jim Dickman Grading	Tri Scapes	ACS Landscape Management	
	Labor Rates	Labor Rates	Labor Rates	
Equipment Operator	\$35.00 / \$35.00 OT	\$45.00 / \$60.00 OT	\$30.00 / \$45.00 OT	
General Labor	\$35.00 / \$35.00 OT	\$32.00 / \$45.00 OT	\$25.00 / \$37.50 OT	
Other	\$45.00 / \$45.00 OT (Supervisor)	\$75.00 / \$75.00 OT (Project Manager)	\$45.00 / \$67.50 OT (Superintendent)	
Percentage Mark-up For Parts	10%	10%	10%	
Percentage Mark-up For Rental Equipment	10%	10%	10%	
Equipment	Truck- \$55.00, Truck & Trailer- \$50.00, Tandem Truck- \$50.00, Bobcat- \$50.00, Backhoe- \$50.00, Pressurewasher- \$15.00, Packer- \$20.00, Concrete Saw- \$25.00, Compressor- \$15.00, Jackhammer- \$15.00, Gas Trash Pump- \$25.00, Electric Sump- \$10.00		\$90.00, Bobcat- \$75.00, Backhoe- \$85.00, Pressurewasher- \$42.50,	

P20-08, Ground Works Cost Evaluation Max Points Available:70	Jim Dickman Grading	ACS Landscape	Tri Scapes
Labor = 45 of 70 Cost Points (30/Licensed-15/Helper)			
Equipment Labor (15 Points)	\$35.00 Hour 12.9 Pts	\$30.00 Hour Low=15 Pts	\$45.00 Hour 10 Pts
General (10 Points)	\$35.00 Hour 7.1 Pts	\$25.00 Hour Low=10 Pts	\$32.00 Hour 15 Pts
Supervisor/Project Manager/Supervisor (20 Points)	\$45.00 Hour Tied Low = 20 Pts	\$45.00 Hour Tied Low=20 Pts	\$75.00 Hour 12 Pts
Total Labor Points Available: 45	40	45	37
Sample Job Evaluation = 20 of 70 Cost Points (30/Licensed-15/Helper)			elper)
Sample Job Rentention Pond Repair	\$3035.00 = 20 Points	\$3735.00 = 16.3 Points	\$3995.00 = 15.2 Points
Total Job Cost Points Available: 20	20	16.3	15.2
Pa	arts and Equipment Rental = 10	of 70 Cost Points (Mark-up Over	Cost)
% Mark-up For Parts and Rental Equipment	10% Tied Low= 10 Pts	10% Tied Low= 5 Pts	10% Tied Low= 5 Pts
Total Parts and Equipment Points Available: 5	5	5	5
Total Cost Points Points Available: 70	65	66.3	57.2
Notes: Cost Evaluation Formu (Lowest Price/R-where "R" represents ranked) x Points = Score)			

20-08, Groundworks Evaluation cample Job / Rentention Pond depair	Rate	Extended Cost	Costs Points Evaluation (Lowest Price/R-where "R" represents the cost of proposal currently being ranked) x Points = Score.)	
Groundworks Job Cost Breakdown (20 of the 70 Cost Points Allocated for Cost Evaluation Purposes)				
		Jim Dickman Gradin	g	
Equipment Operator (1) - 4 hours	\$35.00	\$140.00		
Technician (2) - 16 Hours	\$45.00	\$720.00		
Backhoe / 8 Hours	\$50.00	\$400.00		
Bobcat / 8 Hours	\$50.00	\$400.00	Low = 20 Points	
Dump Truck / 6 Hours	\$50.00	\$300.00		
Materials - \$967.50 Plus Markup	10%	\$1,075.00		
Total Job Cost		\$3,035.00		
		ACS Landscaping		
Equipment Operator (1) - 4 hours	\$30.00	\$120.00		
Technician (2) - 16 Hours	\$45.00	\$720.00		
Backhoe / 8 Hours	\$85.00	\$680.00		
Bobcat / 8 Hours	\$75.00	\$600.00	3035/3735=.81x20= 16.3 Points	
Dump Truck / 6 Hours	\$90.00	\$540.00		
Materials - \$967.50 Plus Markup	10%	\$1,075.00		
Total Job Cost		\$3,735.00		
		Tri Scapes		
Equipment Operator (1) - 4 hours	\$45.00	\$180.00		
Technician (2) - 16 Hours	\$75.00	\$1,200.00		
Backhoe / 8 Hours	\$91.00	\$728.00		
Bobcat / 8 Hours	\$58.00	\$464.00	3035/3995=.76x20= 15.2 Points	
Dump Truck / 6 Hours	\$58.00	\$348.00		
Materials - \$967.50 Plus Markup	10%	\$1,075.00		
Total Job Cost		\$3,995.00		